
Operaciones con Enteros (F)
Emplee una estrategia de enteros para encontrar cada respuesta.

-21 + -50 = -209 ÷ -11 = -756 ÷ 36 = 

4410 ÷ -49 = 89 × -89 = -99 × -75 = 

-67 × -93 = -81 + 90 = 2680 ÷ 40 = 

54 - -66 = 68 - 53 = 58 × 63 = 

-11 - 50 = 32 - -65 = -92 + -55 = 

792 ÷ -11 = 5 + -23 = 3007 ÷ 97 = 

-828 ÷ -92 = 17 - 50 = -67 + 36 = 

32 - 63 = 15 × -13 = -4 - 89 = 

11 - -40 = 336 ÷ 16 = -2204 ÷ -76 = 

-1173 ÷ -51 = 37 + 38 = 28 + -78 = 
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Operaciones con Enteros (F) Respuestas
Emplee una estrategia de enteros para encontrar cada respuesta.

-21 + -50 = -209 ÷ -11 = -756 ÷ 36 =
= -71 = 19 = -21

4410 ÷ -49 = 89 × -89 = -99 × -75 =
= -90 = -7921 = 7425

-67 × -93 = -81 + 90 = 2680 ÷ 40 =
= 6231 = 9 = 67

54 - -66 = 68 - 53 = 58 × 63 =
= 120 = 15 = 3654

-11 - 50 = 32 - -65 = -92 + -55 =
= -61 = 97 = -147

792 ÷ -11 = 5 + -23 = 3007 ÷ 97 =
= -72 = -18 = 31

-828 ÷ -92 = 17 - 50 = -67 + 36 =
= 9 = -33 = -31

32 - 63 = 15 × -13 = -4 - 89 =
= -31 = -195 = -93

11 - -40 = 336 ÷ 16 = -2204 ÷ -76 =
= 51 = 21 = 29

-1173 ÷ -51 = 37 + 38 = 28 + -78 =
= 23 = 75 = -50
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